[ Approximation 2 of Napier's Constant e]

% Use the approximation formula to find the approximation of reciprocal of the base of the
natural logarithm.
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Number of terms = 14

Number of lerms = 8

Approximation of

the reciprocal of Napier's constant
=1-1/14+1/2-1/3141/41-- - -
=0.36787944116069127

The reciprocal of Napier's constant
=0.36787944117144233- -«

Approximation of

the reciprocal of Napier's constant
=1-1/1041/211 /3147 /41e e+
=0.3678571428571429

The reciprocal of Napier s constant
=0.36787944117144233+ - -
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[Outline]
Use the following approximation formula to find the approximation of the reciprocal of the base
e of the natural logarrithm.
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Let's observe how the approximation of the reciprocal of the base e of the natural logarithm can
be obtained as the number of terms increases.

You can see that the convergence speed is very fast.



